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- () (5) () (52)»

_ (ﬂ) yz (ﬁ) 2 _ g (3.38)

dr) r dr) r

gooooooobooogoboooooogpooobouoooog
()
dy
(87") B
0z -

0 1
a—y(x2 +y? + 22)1/2 = §2y(332 +y? + 2'2)*1/2 = %, (3.39)
; (3.40)
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goboooboboooobdob y,z:0000000DO000D0O0DOOOODO
gbboboooobooboobbbooobogboooboobabood
2.000000000000000

0000000000000 0000000000000000000000F =
(Fy, F,) = (by,cz),(byc: 00)00000000000000000000OOD0
00 z,y00000000O0VxFO 0000000000

_, OF, OF,
(VXF) = <8—a:y_8y)

= ¢c—b (341)

0000000000000 0000D0c=060000000000000c#0b600
ugoogooooood

. Udoooooon
0000000000000 (electric induction) 0 00 )0 00 00 OO0 M electro-

—

motive forcedV,y 000000000000 D000 EywDOOODOODDOODOODO
0000 (VxEn+#000000000000000000000000000
00000V,0000000000

Vemt = fﬁind ~dr = //(v X Eind) : dff (342)

000000000000000 ¢0000000000000 E=-Ve¢O0O0O0O
0000O00(VxE=0)

3.5 Ubbobbudooobgobbgoo3auguood

O0000000 FFO000000000000000000000 F~00
000000 FOOOD FFO0D0D0O0 F*000000000000000F =
Fe+ F0O000000000000000

1 2 = 1 2 = & rone (= —

[ém% + U(7)] — [imvl +U(™)] = /Fl Fe() - dr (3.43)
0000000000D0O000000 (3.23)0000000000000000
000000000000000000000000000000000000
0000000000000 00000000000000000000000
00000000 000000000000000000000000000 00
0000000000000 D00000000000000000000000
0000000000000
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4 JUbobobtbbbtobtuooddbooboboubobgo

4.1 UO0O0O0O0O0OO0OOOO0OO0O0O0OO0O0O0O0On

0000000000000 (system)J 000000000000 0OOO0OO
ggbbobdogdoobboduagobbdgodgooobogogan

gogogobbouobobgoboodgoboooboooboboobobooon
gobobodgddbodbdggbobobobdgbibobbboogdggooggod
gooobogogogooon

1. 0b000oggooboo
oooooopoowopoboooooopooobbobobo AK,00000
O0000 Ayoooobooooobo AFOonDonog

W = AK+AU. (4.1)
~ AE (4.2)

guodgguobobobbobbodoboboboobbbooobbooa
ggbbbobdoooouobbbboobooobobobbbooogo
goooo

20000000000
0000D00000000000 FO x00000000000000000
O0dJd00D000000DO0DDOO0O 00 000000000000
DDDDDDDDDDDDDDDfﬂ]DDDDDDDDDD
() 0000000000000000

gbobooboobobobbuoboooooobboobobboobbbod
ggbbododob 0000000 eO0O0ODOO0O0O00OO0OO0OO0O

ma = F— fi. (4.3)
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e PRy RR

)
.
,
,
, \
, \
, \
—> Abne x
I
1
) ] h
\ 1
,

godboooooobbobbb 0o oooboooooooooon
v* = v+ 2ad. (4.4)

0000 «00000000 43)0000000000

1 1
Fd = imv2 — imvg + frd (4.5)

0000000000000000 AK =me?/2—me2/200000
Fd = AK + fud (4.6)

(h)OOODDODODOO0Ooooooooooooooo AUoooooogg
0600000000000

Fd = AFE+ fid,(AE = AK + AU). (4.7)

gooobbouoouoboobobbbooobooooobbbogn
gbobobboboooobobooooomwooboooooboooooon
00000000 (thermal energy)Ey,, 000 0000000000000
gobobouobbouooboboobobooobuodoboooboboobon
gbooboobobobobbbbooobooooboobboboobabbod
ggboobmobboboboooobooooboboobobbboogn
goubdgboobobbbuobbbooooooboboboboooon
000000 (B, 0000000000000 0000000000 AEy
oo0oD ffO00OD0O0OdO00O0O0ODODODODDODODODOOODOOODO

0000000 (47)0

Fd = AE+AFEy (4.9)
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(a)

O 4:

0000000000000 0O0O0O0O0O0O0O0O000 W(@OOoooo
00000000)0000DDO0OOU000DOD0DOOODDODOOOUOOOOO
gbobuobbobooouobooobbgooooooboobobooan
gogobbbuoobbooouoobobobobbboooboboobon
D000000000000000000 FOODOODOODODOOO0OO0O
gbbodgoooboboboboobbbdobobbbobbbbboodgoaon
gbooooubodgobooooooon

4.2 0O0O0O0O0OOOOO0O
4.2.1 UO00OO0O0OO0OOOO0OoO0obOObOoOobOobOoooon

goooooddonoooooooooooooooooogooooag
0000000000000 FwaODOOOOOOOOODOO0O0O0O0OoO0oooon
oo ooooooooooonogoognoogg
oo oooooooooon

00000000 a0 000 0000000000000 0000000
00000000000 000000 woODOhOoooooooooOO0 AFBw.w 000
00000000000 AEFE, 00000000 (thermal energy) 0 00 AFEyy,, O
0,00000000000000 (internal, intrinsic energy) 0 0 0 AFE,,, 00O
ug

W = AEtOtal(E AFE -+ AEth + AEint) (411)

gooogo

Jodboodbgoddbodgaodobboogbbioobgobiobbgdgdgag
J0ogoggooobogbobooboogodboboooonoogoooogn
O0000000000000[71]
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4.2.2 0OUO000O0O0OOOOOOO0

guobdguobbobboouooubibobbuoboboooobbooabod
gbouoogbobbobbooboooboogbboodoagooooogoon
gobbobdooodgbooobbbbbooobobbbbobooobbob
gbbbooooogbgbbobodogoobmogoobbbbobooooa
guboogoboobuboobboboboboboabon
0(1)0oow=00000

AE + AEy, + AFEy =0 (00 0). (4.12)
ODO00AE=AE, - AE, 00000
AE, = AE, — AEy, — AEy, (000) (4.13)

O0000@O01020000000000000000O00O0O000O0) O (4.13)
godbbuooobdobbbooodgboggogggobdgobgobgadgogd
gobobooogobogogooobodgboogaooodobobodoodd

4.3 UO0OU0ooooobobbobbobbooboouoobood
bbb ooboboobooouoogon

gotdoodoooodobootuoooooooooooooooooo
godoooodooooooouoo oo ooouooooooooo
oo ooooooddooooooooouooooon
goodoooooo oo o ooooooooooogo
gotdoooboodoooooobotdooooooouooooooooot
goddobodoooooboooodooooooouooooouoooooon
gooooobooodoouooooo oo ooooouooouooon
godoooodooouooouooooooooooooooooooon
(D000 0000OOenergy itself 000000 O0OO000D0ODOOODODOOO0O
0 O (availability of energy) 0 000 000 O

oo oooodouoooooooooooooon
OO0 Moo ooooooooooooobooooooooo
goodoodoboooouoboouooodoooboooooonoouooood
doodooouoodooodoooooooooooooooooooo o
gotdoooobooooboooootuoooooooooooooooooo
oo
gdooodobooddoooououooobooooouobooooooon
000000000000 000000000000000000000 100%0
gooootubooooodbooooouodoooobououoooobooao
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goodgbgboogbbbobioodoouoobobbobobooboouoooobo
00000 (0000000000000 000o0ooooooooooOooO
gooboobobobboooobobboood
gbbobooubouobobdodgboboobboboooboououoooogos
gooobobbbugbooobbuooouoooooboooobboood
goodgbobbbooobobuobboooodooobobbobodoadgd
gogobooobobobbouobodbbooboooboobobobboood
gbobodgbouobobobogobabogbb20buoobdbooobboon
gogbobotoooobooooobobobogoobooboobon

Ooon

1] b.OOOO/R.OD00COC/)J.000000O0OOCOOOOO1I000O0O0
Oo,20200000700800

2] RA. Serway 00 000000000000 OOO0O0DOOOOO0O,199
oooogroo8on

3 00000 0000000000000 00D0O0OO00O0O00 001968
gol3gogogn

4 00000000000 00000 I-00-00000 019680 Opp.59-60)
b 0000000000000 MOOO0ODOO0OO0O0OO19740
6) 00000000000 mMOoOo0O0oooO19860010

71 000000000000000 M O0D0O0D0000000 B727,19880 O
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